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33 2]

[ 2015 & 5 3% ]
(9] @ mka])
2015
M= 502,890 213,892 20,686 11,395 7,809 1,482
Ak 104,000 90,274 5,173 2,509 822 1,842
o - 66,000 51,121 4,354 1,879 2,146 329
MKl 102,008 66,225 4,116 2,438 1,571 107
BT 36,000 15,692 2,120 1,418 607 95
o 51,375 40,753 4,427 2,580 1,636 211
A4 25,000 21,080 2,074 1,362 654 58
A& 2,136 1,428 238 150 80 8
A7) 557,518 284,733 27,168 15,050 | 10,132 1,986
Al 63,368 30,837 3,370 1,888 887 595
a 25,388 20,396 3,009 1,540 1,167 302
> 38,655 25,437 2,911 1,718 1,103 90
A5 28,474 18,592 2,094 1,461 578 55
A 29,744 10,560 1,295 887 347 61
a5 63,468 27,580 2,688 1,306 784 598
ks 63,771 48,198 3,778 1,062 2,543 173
A 18,952 12,400 1,731 1,570 161 0
A 1,778,747 979,198 91,232 50,213 | 33,027 7,992




[23 3]

#7158 24 ¥ ]
(k9] @ whe))
(%) (%) (%)

8,902 | 6,060 68.1 2,541 28.5 301 3.4
7,061 | 3,671 52.1 3,301 46.8 79 1.1
3,439 | 2,131 62.0 1,262 36.7 46 1.3
5,232 | 3,486 66.6 1,608 30.7 138 2.6
1,704 | 1,299 76.2 405 23.8 0 0.0
3,407 | 2,160 63.4 1,166 34.2 81 2.4
3,018 | 1,959 64.9 1,035 34.3 24 0.8
285 182 63.9 97 34.0 6 2.1
19,728 | 14,658 | 74.3 4,753 24.1 317 1.6
3,732 | 3,041 81.5 677 18.1 14 0.4
3,041 | 2,180 71.7 827 27.2 34 1.1
4,642 | 3,068 66.1 1,505 32.4 69 1.5
3,321 | 2,664 80.2 652 19.6 5 0.2
3,240 | 2,843 87.7 381 11.8 16 0.5
3,632 | 3,131 86.2 493 13.6 8 0.2
5,662 | 5,212 92.1 438 7.7 12 0.2
2,046 | 1,888 92.3 158 7.7 0 0.0
82,082 | 59,633 | 72.7 | 21,299 | 25.9 1,150 14
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[Hd 3-1]

[ F715E A A% ]

(&9 vk, %)

_11_

19.59 13.31
59,63 | 11.643 o 899 8930 ; 23| 217 | 5,045
3 105% | 32.9% | 1.4% 15.0%  22.3%  0.1% 0.4% | 8.4%
9129 323 5946 104 9480 3,009 1,010 124 1,303
9 15%| 27.9% | 05%| 445% | 14.1%| 4.8% | 0.6%| 6.1%
46| 688 2 223 95 7 12 77
1,150
4.0% | 59.8% | 0.2%| 19.4% | 83%| 0.6%| 1.0%| 6.7%
26,23 16,42
82,08 | 12:012 965 | 18,633 1,040| 353 6,425
: 3 1
20 146% | 32.0% | 1.2% 22.7%  20.0% 1.3% 04% 7.8%
[Hd 3-2]
[ F7]s& A7 a3 ]




(%)
12|13 )14 | 15 718 X2 & (2015)
10. | 13. | 14.
88 21 o | 6 Moz mEQ Hy|Z ERQIAL
27.128.] 31. | 32. molstAtm AL FES e
40140
1.5 0.6 | 1.0 | 1.2
23. 1 22.] 23. | 22.
2 8 0|7
24. | 24.| 22. 20.
516 70
96 9.1 1.0 1.3
49 45|79 82
[23 3-3]
F7sE BHos A% |
(
C )
307 28 279 21,974
48 - 48 2,135
5 - 5 1,420
8 - 8 725
8 - 8 1,045
1 1 - 180
1 1 - 300
26 - 26 710
1 - 1 50
65 3 62 9,212
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960
353
502
371
1,026
1,562
1,123
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(

)

()

(

)

8,902 12.4 91 813 91.3

7,051 16.0 98 705 100.0

3,439 14.2 83 341 99.2

5,232 18.7 37 520 99.4

1,704 24.4 10 420 65.7

3,407 21.0 10 834 244.8

3,018 25.1 75 307 101.6

285 26.5 2 52 182.5

19,728 15.2 234 2,410 122.2

3,732 36.9 48 650 174.2

3,041 17.0 25 369 121.3

4,642 20.4 31 568 122.4

3,321 18.3 42 306 92.1

3,240 35.0 40 322 99.4

3,632 33.8 47 348 95.8

5,662 33.7 37 567 100.1

2,046 29.0 6 213 104.1

( ) 82,082 23.4 916 9,745 118.7

[23 5]

[ A= Zacke] TNR A2 A3 ]
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Al E 3 (7te]) AZHE] & () H 31
A& 7,777 1,002.1
A 2,443 248.5
o 1,354 161.2
S| 718 92.9
3 F 414 25.7
o A 500 54.0
= Al 510 59.0
Al F 137 16.8
3 7 8,479 947.0
! 331 53.0
= 5 791 70.0
= 657 115.0
A B 508 51.3
A g 138 19.0
7 629 109.0
A 814 104.0
A 106 10.5

A 26,306 3,139

['HH 6]

[ 7] 8E-5=2FE §2 AH42EH ]
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(&9 : vkl
. =39 . ks
= AL8-2F el olg 7| .
13 '15 2,282,125 (91.03)| 356,224 720,304, 202,858] 1,002,125
2] B
'14 2,203,599 (91.37)| 327,907| 753,125| 175,421| 947,146
| '15 37,178 (1.48) 5,983 5,078 2,732 23,385
=
'14 36,319 (1.51) 5,776 4,346 2,242 23,955
'15 3,132 (0.13) 2,784 127 50 171
Aol #
'14 2,079 (0.08) 1,596 91 40 352
71€} '15 37,417 (1.49) 9,145/ 19,857 1,050 7,365
I '14 29,931 (1.24) 11,200 8,952 962 8,817
'15 34,104 (1.36) 12,914 10,197 0 10,993
X
'14 39,348 (1.63) 13,478 15,648 0 10,222
) '15 1,555 (0.06) 226 1,286 400 0
e
'14 234 (0.01) 177 o7 0 0
'15 1,355 (0.05) 0 1,288 67 0
AT
'14 1,369 (0.06) 112 1,165 82 10
o '15 101,812 (4.06) 30,427, 45,969 1,990 23,426
=
'14 98,848 (4.10) 54,145 31,683 0 13,020
'15 8,479 (0.34) 17 1,274 0 7,188
7| e}
'14 0(0.0) 0 0 0 0
'15 2,507,157 (100) 417,740 805,383 208,787 1,075,247
3 A '14 2,411,727 (100) 414,391| 815,067 178,747 1,003,522
95,430 (4.00) 3,349 A9,684 30,040 71,725
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